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4 @Reasoningbybasantsir

How many such pair(s) of letters are there in the
word ‘POCKETMONEY’ which have as many
letters between them as in the alphabetical series as
we move from left to right?

'POCKETMONEY' 7152 ¥ 27e o U0 fohaq g
7ok St 3 ET 318K & R JuiHTeT sh W S0 |
2T I U B 82

(1) None

(2) Two

(3) Three

(4) Four

(5) None of these
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Statements:

All bank are balance.
Only few balance are cash.
All cash are deposit.

Conclusions:
I. Some bank are cash.
I1. No cash is bank.

(1) None follows

(2) Only I follows

(3) Either I or II follows
(4) Only II follows

(5) Both I and II follow
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Statements:

All coal are mines.

All mines are carbon.

Only few coal are diamond.

Conclusions:
I. Some coal are not carbon.
I1. All diamond can be mines.

(1) None follows

(2) Only I follows

(3) Either I or II follows
(4) Only II follows

(5) Both I and II follow



Statements:

Only few park are fountain.
Some fountain are water.
No water is hot.

Conclusions:
I. All fountain being park is a possibility.
I1. Some water are not park.

(1) None follows

(2) Only I follows

(3) Either I or 1I follows

(4) Only II follows

(5) Both conclusion I and conclusion II follow

4 @Reasoningbybasantsir
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Statements:

Some bear are monkey.

Only few monkeys are giraffe.
Only few giraffes are duck.

Conclusions:
I. Some monkey are not giratte.
I1. All giraffes are duck.

(1) None follows

(2) Only I follows

(3) Either I or II follows
(4) Only II follows

(5) Both I and II follow
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Six persons P, Q, R, W, X and Y attend the lecture in the
month of January, August, November, March, October and
April in the same year. Each one of them likes different
colour Violet, Maroon, Blue, Red, Pink and Black, but not
necessarily in the same order. More than three persons
attend the lecture between P and the one who likes Black.
W attends the lecture before the one who likes Red. As
many persons attend the lecture after X is the same as many
persons attend the lecture before the one who likes Blue. Q
does not attend the lecture immediately before or after X. R
does not like Red. As many persons attend the lecture after
the one who likes Red is the same as many persons attend
the lecture before W. X attends the lecture immediately
before the one who likes Black. Two persons attend the
lecture between Y and the one who likes Pink. W does not
like Blue, Pink and Violet colours.
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More than three persons attend the lecture between P and the one
who likes Black. W attends the lecture before the one who likes Red.
As many persons attend the lecture after X is the same as many
persons attend the lecture before the one who likes Blue. Q does not
attend the lecture immediately before or after X. R does not like
Red. As many persons attend the lecture after the one who likes Red
is the same as many persons attend the lecture before W. X attends
the lecture immediately before the one who likes Black. Two persons
attend the lecture between Y and the one who likes Pink. W does not
like Blue, Pink and Violet colours.

Who attends the lecture in the month of August?
(HP

(2)Q

4Y

3R

(5) None of thee
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More than three persons attend the lecture between P and the one
who likes Black. W attends the lecture before the one who likes Red.
As many persons attend the lecture after X is the same as many
persons attend the lecture before the one who likes Blue. Q does not
attend the lecture immediately before or after X. R does not like
Red. As many persons attend the lecture after the one who likes Red
is the same as many persons attend the lecture before W. X attends
the lecture immediately before the one who likes Black. Two persons
attend the lecture between Y and the one who likes Pink. W does not
like Blue, Pink and Violet colours.

In which of the following months do R and X attend the lecture?
(1) November, January

(2) April, November

(3) November, October

(4) None is true

(5) October, April
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More than three persons attend the lecture between P and the one
who likes Black. W attends the lecture before the one who likes Red.
As many persons attend the lecture after X is the same as many
persons attend the lecture before the one who likes Blue. Q does not
attend the lecture immediately before or after X. R does not like
Red. As many persons attend the lecture after the one who likes Red
is the same as many persons attend the lecture before W. X attends
the lecture immediately before the one who likes Black. Two persons
attend the lecture between Y and the one who likes Pink. W does not
like Blue, Pink and Violet colours.

Which of the following statement is correct?

(1) Q attends the lecture in the month of April.

(2) P likes pink colour.

(3) Two people attend the lecture between Q and R.
(4) None is true.

(5) W attends the lecture in the month of October.
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More than three persons attend the lecture between P and the one
who likes Black. W attends the lecture before the one who likes Red.
As many persons attend the lecture after X is the same as many
persons attend the lecture before the one who likes Blue. Q does not
attend the lecture immediately before or after X. R does not like
Red. As many persons attend the lecture after the one who likes Red
is the same as many persons attend the lecture before W. X attends
the lecture immediately before the one who likes Black. Two persons
attend the lecture between Y and the one who likes Pink. W does not
like Blue, Pink and Violet colours.

Who likes Blue color?
(DR

2) W

4) X

3)Q

(5) None of these
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More than three persons attend the lecture between P and the one
who likes Black. W attends the lecture before the one who likes Red.
As many persons attend the lecture after X is the same as many
persons attend the lecture before the one who likes Blue. Q does not
attend the lecture immediately before or after X. R does not like
Red. As many persons attend the lecture after the one who likes Red
is the same as many persons attend the lecture before W. X attends
the lecture immediately before the one who likes Black. Two persons
attend the lecture between Y and the one who likes Pink. W does not
like Blue, Pink and Violet colours.

Four of the following five are alike in a certain way and hence form
a group. Which of the following does not belong to the group?

(1) Q-Maroon

(3) Y-Violet

(2) W-Red

(4) X-Black

(5) R-Blue
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Eight personsA, B, C, D, E, F, G and H live on eight different
floors, but not necessarily in the same order. The lowermost floor is
numbered 1, the above floor is numbered 2, and so on. The topmost
floor is numbered 8. Two persons live between A and G. C does not
live immediately above or immediately below G but lives on an odd-
numbered floor. H does not live on the lowermost floor. H lives on an
odd-numbered floor. Only one person lives between H and B. D lives
below G. More than two persons live between A and the one who
lives on floor number 4. E lives on the floor which is three times of

F's floor number.
AT AR A, B, C, D, E, F, G 31 H 3173 3TeT-3Te1TT HiSTAl W B B,

YT S TE Toh SO hH T BT TR et HieTet oht U 18, W

h HISTeT <ht Tl 2 2, STl aa@ Hudl WiTer ohy 6T 8 B A3ﬁ'{G
% o= a1 STk @ 81 C, G % 31k HU IT 31k A1 721 @t &, dfeeh
fAre T STeft WTeT UX t2aT 2| H T Fiereht wiTet o 7 @ 2|
H ferem Heeat aret UinTet X T@at g1 H 3T B o & chael Ueh S ih
wAT 21 D, G & 1< AT 21 A 3 HiSTer ST 4 TR @ 97l AR 6
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Eight personsA, B, C, D, E, F, G and H live on eight different
floors, but not necessarily in the same order. The lowermost floor is
numbered 1, the above floor is numbered 2, and so on. The topmost
floor is numbered 8. Two persons live between A and G. C does not
live immediately above or immediately below G but lives on an odd-
numbered floor. H does not live on the lowermost floor. H lives on an
odd-numbered floor. Only one person lives between H and B. D lives
below G. More than two persons live between A and the one who
lives on floor number 4. E lives on the floor which is three times of
F's floor number.

How many persons live between F and D?

(1) Two

(2) Three

(3) One

(4) Four

(5) None
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Eight personsA, B, C, D, E, F, G and H live on eight different
floors, but not necessarily in the same order. The lowermost floor is
numbered 1, the above floor is numbered 2, and so on. The topmost
floor is numbered 8. Two persons live between A and G. C does not
live immediately above or immediately below G but lives on an odd-
numbered floor. H does not live on the lowermost floor. H lives on an
odd-numbered floor. Only one person lives between H and B. D lives
below G. More than two persons live between A and the one who
lives on floor number 4. E lives on the floor which is three times of
F's floor number.

Who lives on the floor number 6?

1) G

4 E

2)C

R)R:!

(5) None of these
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Eight personsA, B, C, D, E, F, G and H live on eight different
floors, but not necessarily in the same order. The lowermost floor is
numbered 1, the above floor is numbered 2, and so on. The topmost
floor is numbered 8. Two persons live between A and G. C does not
live immediately above or immediately below G but lives on an odd-
numbered floor. H does not live on the lowermost floor. H lives on an
odd-numbered floor. Only one person lives between H and B. D lives
below G. More than two persons live between A and the one who
lives on floor number 4. E lives on the floor which is three times of
F's floor number.

our of the following five are alike in a certain

way and hence form a group. Which of the

following does not belong to the group?

DA

(2) B

3)D

4) E

(F) F
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Eight personsA, B, C, D, E, F, G and H live on eight different
floors, but not necessarily in the same order. The lowermost floor is
numbered 1, the above floor is numbered 2, and so on. The topmost
floor is numbered 8. Two persons live between A and G. C does not
live immediately above or immediately below G but lives on an odd-
numbered floor. H does not live on the lowermost floor. H lives on an
odd-numbered floor. Only one person lives between H and B. D lives
below G. More than two persons live between A and the one who
lives on floor number 4. E lives on the floor which is three times of
F's floor number.

Which of the combinations is correct?

(1) A-7

2)E -5

(3) None

4G -4

5)D-3
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Eight personsA, B, C, D, E, F, G and H live on eight different
floors, but not necessarily in the same order. The lowermost floor is
numbered 1, the above floor is numbered 2, and so on. The topmost
floor is numbered 8. Two persons live between A and G. C does not
live immediately above or immediately below G but lives on an odd-
numbered floor. H does not live on the lowermost floor. H lives on an
odd-numbered floor. Only one person lives between H and B. D lives
below G. More than two persons live between A and the one who
lives on floor number 4. E lives on the floor which is three times of
F's floor number.

On which floor does C live?

(1) Floor 6

(2) Floor 1

(3) Floor 7

(4) Floor 3

(5) None of these
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Eight persons — L, M, N, O, P, Q, R and S are sitting around a circle,
but not necessarily in the same order. Three of them are facing
towards the center of the circle while others are facing outside. O is
sitting third to the right of L. There are two persons between O and
Q. N and P are immediate neighbors and both are facing opposite
the center. N and P both are not immediate neighbors of Q. S is
sitting third to the right of N. There is one person sitting between S
and R. Q and O are facing opposite directions (like if Q is facing
inside, then O is facing outside and vice versa). M is sitting
immediately left of O. S sits second to the right of R. O and S are
facing in the same direction. O and N are facing in the opposite
direction.

e =afh - L, M, N, O, P, Q, R 3(R S Uk aﬂ%aﬁaﬁﬁ%%ﬁﬁﬂ
Wﬁ%gﬁmﬁﬁlmﬁﬁﬁwww%éﬁaﬁ@?%
37T T @ &R <l 3R 21 O, L % TTE e T W e 2 O3ﬁ'{Q

ofrer 21 St B NaﬁTPﬁwm%aﬁTaﬁﬁ% foradia fegm
Y 3R 3@ B N_ 3R P T Q & fHehean ugel 78 €1 S, Nh g &
WWW@W%IW@TW%W)I %53%5 TR ST
B S, R%‘qﬁrﬁwwmém%loaﬁxs ﬁﬁm Eeste) %lo
aﬁ'{N%rwﬁ?rﬁ{W%w%l
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Eight persons — L, M, N, O, P, Q, R and S are sitting around a circle,
but not necessarily in the same order. Three of them are facing
towards the center of the circle while others are facing outside. O is
sitting third to the right of L. There are two persons between O and
Q. N and P are immediate neighbors and both are facing opposite
the center. N and P both are not immediate neighbors of Q. S is
sitting third to the right of N. There is one person sitting between S
and R. Q and O are facing opposite directions (like if Q is facing
inside, then O is facing outside and vice versa). M is sitting
immediately left of O. S sits second to the right of R. O and S are
facing in the same direction. O and N are facing in the opposite
direction.

Who is sitting second to the left of Q?

(1) L

2)0

3)S

4 M

() P
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Eight persons — L, M, N, O, P, Q, R and S are sitting around a circle,
but not necessarily in the same order. Three of them are facing
towards the center of the circle while others are facing outside. O is
sitting third to the right of L. There are two persons between O and
Q. N and P are immediate neighbors and both are facing opposite
the center. N and P both are not immediate neighbors of Q. S is
sitting third to the right of N. There is one person sitting between S
and R. Q and O are facing opposite directions (like if Q is facing
inside, then O is facing outside and vice versa). M is sitting
immediately left of O. S sits second to the right of R. O and S are
facing in the same direction. O and N are facing in the opposite
direction.

Who is sitting opposite to S?

()N

2) L

3P

40

(5) None of these
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Eight persons — L, M, N, O, P, Q, R and S are sitting around a circle,
but not necessarily in the same order. Three of them are facing
towards the center of the circle while others are facing outside. O is
sitting third to the right of L. There are two persons between O and
Q. N and P are immediate neighbors and both are facing opposite
the center. N and P both are not immediate neighbors of Q. S is
sitting third to the right of N. There is one person sitting between S
and R. Q and O are facing opposite directions (like if Q is facing
inside, then O is facing outside and vice versa). M is sitting
immediately left of O. S sits second to the right of R. O and S are
facing in the same direction. O and N are facing in the opposite
direction.

What is the position of L. with respect to M?

(1) Second to the right

(2) Third to the left

(3) Second to the left

(4) Third to the right

(5) None of these



Eight persons — L, M, N, O, P, Q, R and S are sitting around a circle,
but not necessarily in the same order. Three of them are facing
towards the center of the circle while others are facing outside. O is
sitting third to the right of L. There are two persons between O and
Q. N and P are immediate neighbors and both are facing opposite
the center. N and P both are not immediate neighbors of Q. S is
sitting third to the right of N. There is one person sitting between S
and R. Q and O are facing opposite directions (like if Q is facing
inside, then O is facing outside and vice versa). M is sitting
immediately left of O. S sits second to the right of R. O and S are
facing in the same direction. O and N are facing in the opposite
direction.

Which of the following group of persons is facing towards the
centre?

(1) P,O,S

2) ROS

3) P,R,Q

4) 0QS

% @Reasoningbybasantsir (5) None of these
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Eight persons — L, M, N, O, P, Q, R and S are sitting around a circle,
but not necessarily in the same order. Three of them are facing
towards the center of the circle while others are facing outside. O is
sitting third to the right of L. There are two persons between O and
Q. N and P are immediate neighbors and both are facing opposite
the center. N and P both are not immediate neighbors of Q. S is
sitting third to the right of N. There is one person sitting between S
and R. Q and O are facing opposite directions (like if Q is facing
inside, then O is facing outside and vice versa). M is sitting
immediately left of O. S sits second to the right of R. O and S are
facing in the same direction. O and N are facing in the opposite
direction.

Who is sitting third to the left of P?

1) Q

2) L

4B

B)R

(5) None of these



In a certain code language,

‘virus and bacteria harm’ is written as ‘cl sa nk jo’,
‘people affected by virus’ is written as ‘jo fa rs ha’,
‘harm destroy by’ is written as ‘rs sa da’

‘affected and destroy them’ is written as ‘cl fa ke da’.

What is the code for ‘by them’ in the given code language?
(1) cljo

(2) kcrs

(3) rs fa

(4) kc sa

(5) None of these

4 @Reasoningbybasantsir



In a certain code language,

‘virus and bacteria harm’ is written as ‘cl sa nk jo’,
‘people affected by virus’ is written as ‘jo fa rs ha’,
‘harm destroy by’ is written as ‘rs sa da’

‘affected and destroy them’ is written as ‘cl fa ke da’.

Code “cl jo” denotes which words?
(1) affected by

(2) harm virus

(3) and virus

(4) bacteria and

(5) people by

4 @Reasoningbybasantsir



In a certain code language,

‘virus and bacteria harm’ is written as ‘cl sa nk jo’,
‘people affected by virus’ is written as ‘jo fa rs ha’,
‘harm destroy by’ is written as ‘rs sa da’

‘affected and destroy them’ is written as ‘cl fa ke da’.

What may be the code for ‘kill harm virus’ in the given
code language?

(1) jo sa he

(2) kc sa he

(3) ha jo sa

(4) nk sa he

(5) sa he cl

4 @Reasoningbybasantsir



In a certain code language,

‘virus and bacteria harm’ is written as ‘cl sa nk jo’,
‘people affected by virus’ is written as ‘jo fa rs ha’,
‘harm destroy by’ is written as ‘rs sa da’

‘affected and destroy them’ is written as ‘cl fa ke da’.

What is the code for ‘bacteria’ in the given
code language?

(1) da

(2) ke

(3) ha

(4) nk

(5) None of these

4 @Reasoningbybasantsir



How many such pairs of digits are there in the number
517942368 each of which has as many digits between them
in the number as when they are arranged in ascending
order?

(1) None

(2) Two

(3) Three

(4) Four

(5) More than four

4 @Reasoningbybasantsir



Seven members A, Z, C, E, F, H and B are born in seven
different months (of the same year) namely January,
February, April, May, July, August and September, but not
necessarily in the same order. Each of them born in
different days namely Monday, Tuesday, Wednesday,
Thursday, Friday, Saturday and Sunday, but not
necessarily in the same order. C born in a month
immediately before B. H born on Thursday. A born before
F. The one who born on Sunday is before the one who born
on Friday. The number of persons born between A and E is
same as the number of persons born between E and Z. F
born in a month which has only 31 days. Only three persons
born between the one who born on Friday and F. The one
who born on Monday born immediately after the one who
born on Saturday. The one who born on Tuesday is neither
born in the month which has 31 days nor in the month
which has less than 30 days. Only three persons were born
between the one who born in Tuesday and B. E is born in

<7 @Reasoningbybasantsir May on Monday.
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C born in a month immediately before B. H born on
Thursday. A born before F. The one who born on Sunday is
before the one who born on Friday. The number of persons
born between A and E is same as the number of persons
born between E and Z. F born in a month which has only 31
days. Only three persons born between the one who born on
Friday and F. The one who born on Monday born
immediately after the one who born on Saturday. The one
who born on Tuesday is neither born in the month which
has 31 days nor in the month which has less than 30 days.
Only three persons were born between the one who born in
Tuesday and B. E is born in May on Monday.

Which of the following day does F born?

(1) Monday

(2) Tuesday

(3) Thursday

(4) Wednesday

(5) Saturday

>

<7 @Reasoningbybasantsir
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C born in a month immediately before B. H born on
Thursday. A born before F. The one who born on Sunday is
before the one who born on Friday. The number of persons
born between A and E is same as the number of persons
born between E and Z. F born in a month which has only 31
days. Only three persons born between the one who born on
Friday and F. The one who born on Monday born
immediately after the one who born on Saturday. The one
who born on Tuesday is neither born in the month which
has 31 days nor in the month which has less than 30 days.
Only three persons were born between the one who born in
Tuesday and B. E is born in May on Monday.

How many persons were born between A and H?

(1) One

(2) None

(3) Four

(4) Three

(5) Two

>
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C born in a month immediately before B. H born on
Thursday. A born before F. The one who born on Sunday is
before the one who born on Friday. The number of persons
born between A and E is same as the number of persons
born between E and Z. F born in a month which has only 31
days. Only three persons born between the one who born on
Friday and F. The one who born on Monday born
immediately after the one who born on Saturday. The one
who born on Tuesday is neither born in the month which
has 31 days nor in the month which has less than 30 days.
Only three persons were born between the one who born in
Tuesday and B. E is born in May on Monday.

Which of the following represents the month in which H
was born?

(1) December

(2) May

(3) July

(4) September

>

<4 @Reasoningbybasantsir (5) None of these
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C born in a month immediately before B. H born on
Thursday. A born before F. The one who born on Sunday is
before the one who born on Friday. The number of persons
born between A and E is same as the number of persons
born between E and Z. F born in a month which has only 31
days. Only three persons born between the one who born on
Friday and F. The one who born on Monday born
immediately after the one who born on Saturday. The one
who born on Tuesday is neither born in the month which
has 31 days nor in the month which has less than 30 days.
Only three persons were born between the one who born in
Tuesday and B. E is born in May on Monday.

Which of the following represents the persons who born in
September and on Saturday respectively?

(HODE,H

2)E, C

3)Z,H

4 Z,B

-]

«Z @Reasoningbybasantsir (5) C, H
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w C born in a month immediately before B. H born on Thursday.
A born before F. The one who born on Sunday is before the one
who born on Friday. The number of persons born between A
and E is same as the number of persons born between E and Z.
F born in a month which has only 31 days. Only three persons
born between the one who born on Friday and F. The one who
born on Monday born immediately after the one who born on
Saturday. The one who born on Tuesday is neither born in the
month which has 31 days nor in the month which has less than
30 days. Only three persons were born between the one who
born in Tuesday and B. E is born in May on Monday.

Four of the following five are alike in a certain way based on
their seating positions and so form a group. Which of the
following is

different from the group?

(1) H-Monday

(3) F-Thursday

(5) Z-Tuesday

(2) E- Saturday

<4 @Reasoningbybasantsir (4) B-Friday
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L,M,N,O, R, T, U, V, W, X, Y and Z live on six different
floors from 1 to 6. The ground floor is number 1 and top
floor is number 6. There are two flats on each floor, flat-1 is
west of flat-2 from such that flat-1 of third floor is exactly
above flat-1 of second floor which is exactly above flat-1 of
first floor and other flats are placed in the same way. V lives
below X in same numbered flat. T lives left to Z on the same
floor. Z lives above L in the same numbered flat. The
number of the floors below L is the same as the number of
the floor, above W. Only one floor between V and M in the
same flat. R lives in an odd-numbered floor. X lives just
below U in a flat numbered 1. R lives in the same flat in
which X lives. W lives just above Y in the same numbered
flat. Only one floor between Y and N in the same numbered
flat. Y does not live on the same floor on which V lives.
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V lives below X in same numbered flat. T lives left to Z on
the same floor. Z lives above L in the same numbered flat.
The number of the floors below L is the same as the number
of the floor, above W. Only one floor between V and M in
the same flat. R lives in an odd-numbered floor. X lives just
below U in a flat numbered 1. R lives in the same flat in
which X lives. W lives just above Y in the same numbered
flat. Only one floor between Y and N in the same numbered
flat. Y does not live on the same floor on which V lives.
Who lives in flat-1 of third floor?

(DR

2) X

DT

) Z

(5) None of these



% @Reasoningbybasantsir

V lives below X in same numbered flat. T lives left to Z on
the same floor. Z lives above L in the same numbered flat.
The number of the floors below L is the same as the number
of the floor, above W. Only one floor between V and M in
the same flat. R lives in an odd-numbered floor. X lives just
below U in a flat numbered 1. R lives in the same flat in
which X lives. W lives just above Y in the same numbered
flat. Only one floor between Y and N in the same numbered
flat. Y does not live on the same floor on which V lives.
Who among the following lives immediately

left of Y?

(D) Z

2T

4 W

3R

(5) None of these
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V lives below X in same numbered flat. T lives left to Z on
the same floor. Z lives above L in the same numbered flat.
The number of the floors below L is the same as the number
of the floor, above W. Only one floor between V and M in
the same flat. R lives in an odd-numbered floor. X lives just
below U in a flat numbered 1. R lives in the same flat in
which X lives. W lives just above Y in the same numbered
flat. Only one floor between Y and N in the same numbered
flat. Y does not live on the same floor on which V lives.
How many persons live above W?

(1) 2

2)6

@9

35

(5) None of these
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V lives below X in same numbered flat. T lives left to Z on
the same floor. Z lives above L in the same numbered flat.
The number of the floors below L is the same as the number
of the floor, above W. Only one floor between V and M in
the same flat. R lives in an odd-numbered floor. X lives just
below U in a flat numbered 1. R lives in the same flat in
which X lives. W lives just above Y in the same numbered
flat. Only one floor between Y and N in the same numbered
flat. Y does not live on the same tloor on which V lives.
Which of the following group of persons lives on the same
floor?

MHT, X

2) Y, L

R)DAY

4N, U

5 W,R
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V lives below X in same numbered flat. T lives left to Z on
the same floor. Z lives above L in the same numbered flat.
The number of the floors below L is the same as the number
of the floor, above W. Only one floor between V and M in
the same flat. R lives in an odd-numbered floor. X lives just
below U in a flat numbered 1. R lives in the same flat in
which X lives. W lives just above Y in the same numbered
flat. Only one floor between Y and N in the same numbered
flat. Y does not live on the same tfloor on which V lives.
Four of the following five are alike in a certain way and so
form a group. Which one does not belong to that group?
belong to that group?

(1) O

Q)W

4) L

QT

3R
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Seven boxes G, F, E, D, C, B and A are arranged in the top
to bottom. Each box contains different colour Red, Green,
Pink, Violet, White, Black and Blue, but not necessarily in
the same order. A is kept immediately below to the box
which contains White colour. Only two boxes are kept
between the box which contains Violet colour and the box
which contains Blue colour. Only one box is between G and
the one which contains Pink colour. E does not contain
Pink. The box contains Red colour is immediately above C.
Black box is below G. Only four boxes are kept between D
and the box which contains Pink colour. Both the box
contain Violet and White colour are kept above C. Only
two boxes are kept between E and the box which contains
Black colour. The number of boxes between F and E are
same as between E and G.
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A is kept immediately below to the box which contains White
colour. Only two boxes are kept between the box which contains
Violet colour and the box which contains Blue colour. Only one box
is between G and the one which contains Pink colour. E does not
contain Pink. The box contains Red colour is immediately above C.
Black box is below G. Only four boxes are kept between D and the
box which contains Pink colour. Both the box contain Violet and
White colour are kept above C. Only two boxes are kept between E
and the box which contains Black colour. The number of boxes
between F and E are same as between E and G.

Which of the following boxes is kept on the top?

(1) Black

2) A

3)F

(4) Pink

(5) Green
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A is kept immediately below to the box which contains White
colour. Only two boxes are kept between the box which contains
Violet colour and the box which contains Blue colour. Only one box
is between G and the one which contains Pink colour. E does not
contain Pink. The box contains Red colour is immediately above C.
Black box is below G. Only four boxes are kept between D and the
box which contains Pink colour. Both the box contain Violet and
White colour are kept above C. Only two boxes are kept between E
and the box which contains Black colour. The number of boxes
between F and E are same as between E and G.

Which of the following boxes is kept immediately above D?

(1) A

2)C

(4) Blue

(3) Violet

(5) Cannot be determined
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A is kept immediately below to the box which contains White
colour. Only two boxes are kept between the box which contains
Violet colour and the box which contains Blue colour. Only one box
is between G and the one which contains Pink colour. E does not
contain Pink. The box contains Red colour is immediately above C.
Black box is below G. Only four boxes are kept between D and the
box which contains Pink colour. Both the box contain Violet and
White colour are kept above C. Only two boxes are kept between E
and the box which contains Black colour. The number of boxes
between F and E are same as between E and G.

How many boxes are kept between box E and Pink coloured box?
(1) None

(2) One

3) Two

(4) Three

(5) Four
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A is kept immediately below to the box which contains White
colour. Only two boxes are kept between the box which contains
Violet colour and the box which contains Blue colour. Only one box
is between G and the one which contains Pink colour. E does not
contain Pink. The box contains Red colour is immediately above C.
Black box is below G. Only four boxes are kept between D and the
box which contains Pink colour. Both the box contain Violet and
White colour are kept above C. Only two boxes are kept between E
and the box which contains Black colour. The number of boxes
between F and E are same as between E and G.

What is the position of box A from the bottom?

(1) First

(2) Second

(3) Third

(4) Fourth

(5) Fifth
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A is kept immediately below to the box which contains White
colour. Only two boxes are kept between the box which contains
Violet colour and the box which contains Blue colour. Only one box
is between G and the one which contains Pink colour. E does not
contain Pink. The box contains Red colour is immediately above C.
Black box is below G. Only four boxes are kept between D and the
box which contains Pink colour. Both the box contain Violet and
White colour are kept above C. Only two boxes are kept between E
and the box which contains Black colour. The number of boxes
between F and E are same as between E and G.

What is the colour of Box E?

(1) Black

(2) Green

(3) Pink

(4) Violet

(5) White



Ten persons from A to J are attending a seminar on five
different months among January, February, March, April
and May but not necessarily in the same order. The seminar
held on two different dates like 19th and 20th of each
month. No two persons attend the seminar on the same date
of a month. Only two persons attend the seminar before E.
Three persons attend a seminar between B and H. F
attends a seminar in March. B attends a seminar on 20th of
the month which has minimum number of days. A and D
attend on an odd date. A attends on the month which has 31
days. Two persons attend a seminar between D and J. 1
attend the seminar immediately before J and in the month
of May. Two persons attend a seminar between I and G.

\\
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Ten persons from A to J are attending a seminar on five different
months among January, February, March, April and May but not
necessarily in the same order. The seminar held on two different
dates like 19th and 20th of each month. No two persons attend the
seminar on the same date of a month. Only two persons attend the
seminar before E. Three persons attend a seminar between B and H.
F attends a seminar in March. B attends a seminar on 20th of the
month which has minimum number of days. A and D attend on an
odd date. A attends on the month which has 31 days. Two persons
attend a seminar between D and J. I attend the seminar immediately
before J and in the month of May. Two persons attend a seminar
between I and G.

How many persons attend the seminar before G?

(1) Two

(2) Three

(3) Four

(4) None

(5) Five
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Ten persons from A to J are attending a seminar on five different
months among January, February, March, April and May but not
necessarily in the same order. The seminar held on two different
dates like 19th and 20th of each month. No two persons attend the
seminar on the same date of a month. Only two persons attend the
seminar before E. Three persons attend a seminar between B and H.
F attends a seminar in March. B attends a seminar on 20th of the
month which has minimum number of days. A and D attend on an
odd date. A attends on the month which has 31 days. Two persons
attend a seminar between D and J. I attend the seminar immediately
before J and in the month of May. Two persons attend a seminar
between I and G.

Who among the following attends the seminar on 19th of May?

(1) A

4) G

2)1

3)F

(5) None of these
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Ten persons from A to J are attending a seminar on five different
months among January, February, March, April and May but not
necessarily in the same order. The seminar held on two different
dates like 19th and 20th of each month. No two persons attend the
seminar on the same date of a month. Only two persons attend the
seminar before E. Three persons attend a seminar between B and H.
F attends a seminar in March. B attends a seminar on 20th of the
month which has minimum number of days. A and D attend on an
odd date. A attends on the month which has 31 days. Two persons
attend a seminar between D and J. I attend the seminar immediately
before J and in the month of May. Two persons attend a seminar
between I and G.

Which among the following statements is definitely true?

(1) H and the person who attends a seminar immediately before J
attend the seminar in the same month.

(2) Two persons attend a seminar between A and J.

(3) D and F attend a seminar on an odd day.

(4) B and C attend a seminar in the same month.

(5) None of these
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Ten persons from A to J are attending a seminar on five different
months among January, February, March, April and May but not
necessarily in the same order. The seminar held on two different
dates like 19th and 20th of each month. No two persons attend the
seminar on the same date of a month. Only two persons attend the
seminar before E. Three persons attend a seminar between B and H.
F attends a seminar in March. B attends a seminar on 20th of the
month which has minimum number of days. A and D attend on an
odd date. A attends on the month which has 31 days. Two persons
attend a seminar between D and J. I attend the seminar immediately
before J and in the month of May. Two persons attend a seminar
between I and G.

Four of the following five are alike in a certain way and thus form a
group. Which of the following does not belong to the group?

(1) C

4)H

2)B

B F

(5) None of these
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Ten persons from A to J are attending a seminar on five different
months among January, February, March, April and May but not
necessarily in the same order. The seminar held on two different
dates like 19th and 20th of each month. No two persons attend the
seminar on the same date of a month. Only two persons attend the
seminar before E. Three persons attend a seminar between B and H.
F attends a seminar in March. B attends a seminar on 20th of the
month which has minimum number of days. A and D attend on an
odd date. A attends on the month which has 31 days. Two persons
attend a seminar between D and J. I attend the seminar immediately
before J and in the month of May. Two persons attend a seminar
between I and G.

Which of the following persons attend a seminar in a month which
has 30 days?

1M)CcJd

2)LE

4)D,H

B)F, A

(5) None of these



4 @Reasoningbybasantsir

The certain number of persons sitting in a row and all of
them are facing in the north direction. Only ten persons sit
to the left of E. F sits eight to the left of E. The person A sits
fourth to the right of B. Four persons are sitting between B
and F. C sits to the immediate left of D. D sits third from the
extreme right end of the row. The number of persons sit
between F and A is same as E and D.
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The certain number of persons sitting in a row and all of
them are facing in the north direction. Only ten persons sit
to the left of E. F sits eight to the left of E. The person A sits
fourth to the right of B. Four persons are sitting between B
and F. C sits to the immediate left of D. D sits third from the
extreme right end of the row. The number of persons sit
between F and A is same as E and D.

Four of the following five are alike in a certain way and
thus form a group. Which of the following does not belong
to the group?

(1) F-20

4) C-4

(2) B-15

3) A-10

(5) None of these
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The certain number of persons sitting in a row and all of
them are facing in the north direction. Only ten persons sit
to the left of E. F sits eight to the left of E. The person A sits
fourth to the right of B. Four persons are sitting between B
and F. C sits to the immediate left of D. D sits third from the
extreme right end of the row. The number of persons sit
between F and A is same as E and D.

What is the position of C with respect to E?

(1) Immediate right

(2) Third to the left

(3) 8th to the right

(4) Immediate left

(5) None of these
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The certain number of persons sitting in a row and all of
them are facing in the north direction. Only ten persons sit
to the left of E. F sits eight to the left of E. The person A sits
fourth to the right of B. Four persons are sitting between B
and F. C sits to the immediate left of D. D sits third from the
extreme right end of the row. The number of persons sit
between F and A is same as E and D.

How many persons are there in the row?

(1) 20

2) 19

(4) 22

R)PAR

(5) None of these
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The certain number of persons sitting in a row and all of
them are facing in the north direction. Only ten persons sit
to the left of E. F sits eight to the left of E. The person A sits
fourth to the right of B. Four persons are sitting between B
and F. C sits to the immediate left of D. D sits third from the
extreme right end of the row. The number of persons sit
between F and A is same as E and D.

How many seats are there between A and E?

(Mo

2)1

45

R)R

(5) None of these



Qé_ Six persons-A, E, V, I, O and U are sitting around a
triangular table. Three of them sit at the corner and three

of them sit at the side of the table. Three of them are facing
center and three facing outward of the table. U sits at
corner seat and faces towards the center. Only one person
sits between I and U. E and I are immediate neighbor but
none of them immediate neighbor of U. A sits second to the
left of I. U sits at the immediate right corner of A. V faces
inside. O, who is an immediate neighbor of I, sits second to

the right ofE
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Six persons-A, E, V, I, O and U are sitting around a
triangular table. Three of them sit at the corner and three
of them sit at the side of the table. Three of them are facing
center and three facing outward of the table. U sits at
corner seat and faces towards the center. Only one person
sits between I and U. E and I are immediate neighbor but
none of them immediate neighbor of U. A sits second to the
left of I. U sits at the immediate right corner of A. V faces
inside. O, who is an immediate neighbor of I, sits second to
the right of E.

Who among the following is second to the left of the V?
(Hu

2)1

Q) E

4 A

(5) None of these
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Six persons-A, E, V, I, O and U are sitting around a
triangular table. Three of them sit at the corner and three
of them sit at the side of the table. Three of them are facing
center and three facing outward of the table. U sits at
corner seat and faces towards the center. Only one person
sits between I and U. E and I are immediate neighbor but
none of them immediate neighbor of U. A sits second to the
left of I. U sits at the immediate right corner of A. V faces
inside. O, who is an immediate neighbor of 1, sits second to
the right of E.

Who among the following are facing towards the centre?
(1) V,Aand U

2)LLUand V

3)V,0and E

(4) Can’t be determined

(5) None of these
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Six persons-A, E, V, I, O and U are sitting around a
triangular table. Three of them sit at the corner and three
of them sit at the side of the table. Three of them are facing
center and three facing outward of the table. U sits at
corner seat and faces towards the center. Only one person
sits between I and U. E and I are immediate neighbor but
none of them immediate neighbor of U. A sits second to the
left of I. U sits at the immediate right corner of A. V faces
inside. O, who is an immediate neighbor of I, sits second to
the right of E.

Who among the following sits third to the right of 1?

1) O

2)V

) A

(4) P

(5) None of these
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